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BACHELOR'S DEGREE PROGRAMME

Term-End Examination
00	 June, 2010

O (APPLICATION ORIENTED COURSE)O
AEC-01 : ENVIRONMENTAL CHEMISTRY

Time : 3 hours	 Maximum Marks : 100

Note : Attempt all questions.

1.	 (a) Complete any ten of the following
sentences :	 1x10=10

Wearing away of the land surface by
running water, wind, ice or geological
agents is called 	
The soil organisms which	 can
synthesise their own food are known
as 	
	 is the process of

strengthening of yarn by loading with
starch before it is woven into fabric.
The water of a water body that can
be used	 for drinking after
conventional treatment is termed as

The rate of change of temperature with
height is defined as 	
The top layer of atmosphere is known
as
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(b)

The measure of air pollutants in the
atmosphere refers to as 	
	  disease is caused by

pollution due to cadmium metal.
is the production of

ammonia by decomposition of
nitrogen containing compounds such
as proteins.
Infant methaemoglobinaemia is
caused by consumption of water with
high concentration of 	
The number of moles of HC1 in 250 ml
of its 0.10 M solution is 	

type of transition is
observed in the Infra-red spectra.

Answer any five of the following :	 2x5=10
What is chemical oxygen demand ?
Explain the Law of Minimum.
What are the requirements of a good
precipitate in gravimetric analysis ?
Define chromatography.
What are ion selective electrodes ?
Give an example.
Calculate the wave number in cm-1
and frequency in Hz for a radiation

of wave length 4000 A . (c =3 x 1010
cm/sec).

(vii) What are pathogens ? Name any two
water borne pathogens.
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2. Answer any four of the following :	 5x4=20

List various active and passive factors
affecting formation of soil. What are
ectodynamorphic and endo - dynamorphic
soils ?

Compare the advantages of crop rotation
with those of monoculture practices.

Name the types of microbial organisms
found in fertile soils. Which one of these is
the most abundant ? Describe two beneficial
effects of these organisms.

Describe the importance of hydrological
cycle for human life.

What is hard water ? Describe the types of
hardness and reasons thereof.

Explain the term biomonitoring of water
quality. Describe any three advantages of
biomonitoring over chemical monitoring.

3. Answer any four of the following :	 5x4=20

What is the cause of alkalinity of soils ?
O	 What are the disadvantages of alkaline

soils ?
00

Describe two methods of conservation of
groundwater sources.
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Explain giving chemical equations how
ozone is produced and depleted in
stratosphere ? What is the effect of ozone
layer depletion on human health ?

Explain giving a diagram the phenomenon
of temperature inversion.

What is photochemical smog ? Name and
explain the formation of two toxic
components of this smog.

How can the anthropogenic air pollutants
be controlled ?

4.	 Answer any four of the following :	 5x4=20

Discuss the methods of reducing hazardous
waste at source.

Describe five measures of minimising
pesticide residues in crops and	 in
environment.

What is the significance of sewage
characterisation for its treatment ?

Describe in brief the health hazards
associated with consumption of water
polluted with biological agents.

Describe any five precautions to be taken
during sampling for environmental analysis.

Describe the gravimetric method for
determination of chloride or sulphate ions
in a water sample.
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5. Answer any four of the following :	 5x4=20

Describe the method for analysis of
suspended particulate matter (SPM) in
ambient air.

Describe the pollution of water due to
organochlorine compounds. What is their
effect on human health ?

Describe the principle of solvent extraction
and state four characteristics of a good
extracting solvent.

Define molar conductivity.	 The
conductivity of a 0.20 M solution of KC1 at
25°C is 0.25 S cm -1 . Calculate the molar
conductivity of the solution.

What are the different types of electronic
transitions involved in U.V. spectra ?
Explain with the help of diagram and
arrange these in the order of increasing
energy.

What are indicator microorganisms ? Name
their two groups. Give their important
characteristics and describe their
importance for microbial examination of
water.
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